
0�7�� :BK �
 8,K �6K �+ � �4 % >�

:BK P]UZ PZUY PZUX GCD 3 9 15 1

�
 OXUV PZUY P\UY FCD 2 6 12 2

8,K OWUW OZUX NYUX DCI 0 5 8 3

�6K OWUV OYUW NYUX DCI 0 3 7 4

0�7�� �6L 8,L ��K @3R�� �+ � �4 % >�

�6L PWVU[ OWUW PYUX 2.0 2 8 14 2

8,L OYUV OVUV OVUV 0.0 0 0 3 4

��K PZUX P\UY PYUW 3.0 3 6 13 1

@3R�� OYUW PYUX OXUW 1.0 1 4 8 3

0�7�� �= .�L 5A �� �+ � �4 % >�

�= OVUV P]UZ NYUW 1.5 1 5 10 3

.�L P[UZ P\UZ OYUW 2.0 2 9 14 2

5A OVUV OXUW OWUV 0.0 0 1 3 4

�� NYUW P[UX P\UZ 2.5 2 7 14 1

0
7�� /� :BL !�* &)L �+ � �4 % >�

/� PZUX OWUV OXUX 1.0 1 4 7 3

:BL OXUV OYUW OXUW 0.0 0 2 7 4

!�* PYUW P\UY P[UX 3.0 3 6 14 1

&)L P[UY PZUY O[UW 2.0 2 7 14 2

0�7�� ��L 8,M :BM &)K .�K �+ � �4 % >�

��L P[UY PYUX 2.0 2 5 8 1

8,M OVUV OXUV 0.0 0 0 2 5

:BM P^UZ OVUV 1.0 1 4 8 2 � 1.0

&)K OXUW PYUX 1.0 1 3 5 4 �	 0.5

.�K PYUY OYUW 1.0 1 4 6 3 9 0.0
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�7/4 �2/1

�1/1 �6/4 �3/1 �6/2

�3/0 �6/2 �8/4 �3/1
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